=
<

fe) =
gt_S g T T T iy e
= § bbb
S C
o = A
E © 10
1072 -
il 107F
.9105% . .9105% M
T Hil: IS |
o N o y
TN LT et st
0.95 : 0.95
=3 -2 2 3 =3 3
TP n (PCA to beamline) mline)
—— DQNM_MKFT_TI1Dase
—e— DOQM_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT _Dbaseline_6iter
—— DQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD
=~ 1= =~ 1
= : IS
2 : S
* >
o}
) o
o] | S
107 1
1071
1072
1072
.9195% o W
T T
nd L @
].HT. 1"..
0.95 0.95LLLLTILS : : : Al

2 3
TP n (PCA to beamline)

o p/p.)

23 =2 -1 0 il . 3
TP n (PCA to beamline)



	Contents
	Page 1


